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QUESTION 1

Given: 

a record store of type javax.microedition.rms.RecordStore, containing five records whose contents are Alice, Bill,
Candice, Dean, and Ethel, respectively 

an enumeration for the record store that specifies a comparator that sorts alphabetically 

The first call to the enumeration is previousRecord(). 

Which would be returned by a second call to previousRecord()? 

A. Dean 

B. Ethel 

C. Bill 

D. Alice 

E. Candice 

F. An exception is thrown at runtime. 

Correct Answer: A 

 

 

QUESTION 2

Which two are true about JTWI devices using SMS? (Choose two.) 

A. The payload for an SMS message can use the BinaryMessage interface. 

B. A message which is too big to be sent in a single segment is NOT guaranteed to have its segments arrive at the
application in the order in which they were sent. 

C. Multiple messages sent from point A to point B are NOT guaranteed to be delivered in the order in which they were
sent. 

D. Java applications are restricted to using port numbers between 2000 and 9207. 

E. The payload for an SMS message segment CANNOT exceed 140 bytes. 

Correct Answer: AC 

 

 

QUESTION 3
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Given: 

30.

 public boolean X(byte[] Y) throws IllegalArgumentException { 

31.

 ByteArrayInputStream bais = new ByteArrayInputStream(arg); 

32.

 DataInputStream dis = new DataInputStream(bais); 

33.

 String type = null; 34. try {type = dis.readUTF();} 

35.

 catch (Exception e) { } 

36.

 return(Z); 

37.

 } 

Which substitutions for X, Y, and Z in the code create a valid implementation of RecordFilter that matches records
whose type is NOT deleted? 

A. X is matches Y is type Z is !type.equals("deleted") 

B. X is match Y is arg Z is type.equals("deleted") 

C. X is matches Y is arg Z is !type.equals("deleted") 

D. X is match Y is type Z is !type.equals("deleted") 

E. X is matches Y is arg Z is type.equals("deleted") 

Correct Answer: C 

 

 

QUESTION 4

Which two are true? (Choose two.) 

A. WMA provides a set of APIs for multimedia content handling. 

B. The J2SE specification extends the MIDP specification. 
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C. The goal of the CLDC is to guarantee portability and interoperability between various types of resource-constrained
devices. 

D. MIDP 2.0 is a set of APIs that runs on top of the CLDC. 

Correct Answer: CD 

 

QUESTION 5

Given: 

12.

 canvas.repaint(x1,y1,wd,ht); 

13.

 canvas.repaint(x2,y2,wd,ht); 

14.

 canvas.serviceRepaints(); Which two are true? (Choose two.) 

A. serviceRepaints() blocks waiting for paint() to return. 

B. paint() is called three times, once for each repaint() and once for serviceRepaints(). 

C. paint() is always called twice, once for each repaint() request. 

D. If the two regions specified in repaint() overlap, repaint() may attempt to paint the union of the two areas. 

Correct Answer: AD 
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